Lo | EIRA Lo | EXH oy | CHESM ooy | ATALSER N - L= | FYEURE Lo | EHETE L= | IUT LR

1 HEREAXER 734,830 &= H 519,266 1R 385,033 | F#RE H 588,323 t2F 264,989 R fFth 84.3 f@Fh 447 HET™H 29.9
2 SWN=FTH 733,649 | R &R X &R 516,336 F#R = H 374,449 SN =FETH 587,487 )I[I&tH 222,871 L L Th 79.5| &Rt 42.0 ¥ LU 28.8
3FH=ETH 733,141 | &LV =F T 511,126 ;& 372,845 | )1l I&tH 587,299 | SLVf=FE T 222,523 ;& 7710 )KETH 4.8 RRABX AR 278
4|)1|57H 722,875 1R H 500,015|LLUfizThH 368,713 | R &R X &R 584,241 | BRI #B X &l 218,494 & th 73.6|f2Bm™H 39.7 KPR 21.7
5| FFEm 694,740 | J1| & 500,004 | &R TH 367,976 f@FHH 570,626 ;I th 214467 B 736 fHETH 38.3 AEF;™ 27.7
6| =B 691,132 | FZEm 499,514 | IR AP X &B 365,747 =Bt 552,724 F&#BE TH 213,874 HEpth 73.3| KBrth 38.2 flET 27.7
7 %&HH 677,771 |l 488,030 =L V\f=FE T 364,964 FEH 552,304 £ & H 212,988 fH{ERTH 728 SLM=FETH 38.1 | KiEMH 276
8|#EE™ 672,155 Bt 487,092 B[R 364,735 LAz Th 545,629 JKE 207,220 #HFEtH 72,5 ;™ 381 B HEM™ 275
9|lLUfsTh 664,947 | fH{E R T 486,108 )1 I& T 364,428 t&;ETH 545417 |{&;Eth 205,070 | BEARTh 71.5 )1l tH 38.0 t#&ET 27.3
10 Ik B T 659,401 | ZX &R 482,099 FEH 357,079 E Ll 534,798 R 204,040 Hi#ETH 71.4| 8% 3.7 =& 27.3
11[%8/™H 653,144 |l B h 477539 E¥ 355,888 | &Rt 531,459 {2 & 199817 & HE™ 695 FEE ™ 31.7;E¥MATH 27.1
12 f2B™™ 650,444 |iZTH 475,269 | t2RE ™ 352,132 |fa &t 530,633 ;E#ATH 199,388| K;ETh 69.0 EER™ 37.6 &%0TH 27.0
13| 7KFE 648,553 |f&[E 475170| I B 348,706 Iz B T 530,568 &Rt 197,434| K&th 68.3 Fimm 374 FEm 26.9
14 EWUTH 646,975 EEF™ 472474 =B th 348,684 fRfE ™ 530,107 | FEth 195,226 EE R & 679 2 HEM™ 371 f8H™ 26.8
15|&Rm 644,894 t&;ETH 467,085 ELUTH 346,645/ KB 527,141 #hiBth 192,312| L h 67.6 I 37.1 F#MEmH 26.8
16 #8iIth 644,127 1Lt 458,821 L&t 343,401 3R 522,858 & LLUTH 188,154 li&TH 67.6 F1FRLT™H 370/ &R 26.6
1788 637,840 L& 455,022 B fF 341,150 ¥ T 522,534 @ LLtH 188,102 | EEnth 674 t&ETH 37.0 #0Frumh 26.6
18 gt 636,293 | &t 450,627 ¥ ETH 340,346 ;E#TH 515,792 = fath 188,089 |FkEHTH 67.3 ELUH 36.9 BEAXT 26.6
19| &mh 632,785 &R 447460 &R 334,025 #FiEmh 514,955 8% 183,271 |[L & 66.7 =B 362 5 HF™ 26.6
20{EE™h 629,252 | =t 444696 Ko th 331,993 5t th 513,150 AL1EH 182,275|fE & 66.6 | [# LT 36.1 LU 26.4
21 ;EMATH 624,910 | Friamh 44398128 330816 & ™ 512,883/ LLATH 181,935 {&[H 66.4 fEE™ 35.2/lLAa 26.4
22 fR¥R[R ™ 622,079 K9 442,385t il T 329,403 & 507,828 |l BB T 181,862| RI&H 66.2| LUz 348 Ei&m™ 26.3
23 uETh 619,449 JKPtH 441,333 &2 325,062 B h 507,783t th 177,975 =I5 H 66.2 RI&™H 34.6 B[ 26.3
24 |[ELTH 617,318/ 8B 435,963 | §: [ 324,512 LR TH 504,129 | Lz H 176,917 | &R 66.0 X:EmH 343 ELV=FH 26.2
25 RART 616,412 K;Emh 435553 KiETH 322,841 &R TH 502,290 = %Ath 172,299 I B th 65.7| IR AR X &R 342 FiEm™ 26.0
26 | FERETH 614,449 | 2 E™H 432239 Fiath 322,643 LUt 501,537 #1FRLLTH 168,808| T &% 65.7 AR E™ 335 FHE™ 25.8
27 | #LWETH 610,811 |E2fEh 431179 ETH 322,417 fH{EJRTH 500,706 {li&TH 164,427 ARERTH 655 & ™ 335/kE™ 25.8
28| ¥ 600,108 R fF 430432 LB 322,377/luOvh 487,920 | %[ 163,469 | KBRH 65.3 S 334 EUm 25.6
29| 8B 597,303 [ E&TH 430,063 | #L1% 321,854\ X»'th 486,243 fEETH 161,340 ELH 64.8 {2 ™ 333 ERE™ 25.6
30| Ko 596,634 ¥ 429,660 HIHET 320,064 ;& 484291 | [LETH 161,002| FEhH 64.7 ILAOTH 33.1| BT 255
3| LE™H 591,065 | @ LU 429215kt 319,920 fEB&™H 483,758 KBirth 159,521 #3Lth 643 [LE™ 32.7 B[R 255
2(luOm 590,116 | L% 428536 | BT 317452 EF™ 483523 ElI& 159,208 | F& [ 63.9 ;Eth 323 lEM™ 25.3
33| &M 589,092 gitETH 427058 2 HE™ 317434\ LB 483,379 HE&HF™ 156,236 | #LiRTH 63.8 BIE™ 31.7|[EE™H 25.2
34 586,715 | B& @ 425,622 ;EfxTh 316,404 | B [@h 480,921 | K»m 154,250 | F0 gL H 63.8|{lE™ 31.4 BEH 25.1
35 RIGH 583,351 ;E#ATH 425522 REARTH 314,584| El&tH 470,751 BEEth 148,251 FH = 63.6 ¥ LT 3118 24.9
36| KEH 580,811 | Ri&m 424143 [@UTH 313,435 551 469,786 FNHETH 148,034 &¥Ath 63.3/ Rt 31.0| &#th 24.9
37 #FrLTH 574,490 £ & th 416,264 E & 311,543 KiEth 468,098 | = & 146,272 S %0 63.3 & x0T 30.8|)II&TH 24.8
B EEHEM 571,793t AL TH 415,728 ¥3;Ih 308,067 FNFXLLTH 466,060 K;EtHh 145,257 =Rt 63.1 BEAT 30.6 ¥ ITH 24.8
39 &%Nh 563,491 |faH 412,782 ERT™H 306,710 X 460,350 BRERTH 144,102| £ R 62.9 fLiIE 301 IUfET™H 24.8
40 | FRETH 557,641 |# AT 409,607 | IlLAT™H 305,985 & ETH 456,987 2 E™ 139,553 | #FhiEth 62.7 FRART 30.0 f&fE 24.4
41 ERh 556,703 |BE A TH 408,968 |23 h 305,636 HFH&T 455,055 3R 137,825/ lLOTH 62.7 I BT 299 E¥m 24.4
42 BIAET 555267 SHEiH 408452 FhETH 304,369 S HxTH 454960 FEIR E&TH 136,740 BRFRAR X AR 62.6 AP TH 29.7 BRFTH 24.4
43| Krh 551,851 [IUO™H 408,181 KBk 300,829 |#¢HH 452,403 | HE|R T 135,971/ k&L H 62.5 fRIE[R T 296 ZE™ 24.3
44| FHH 545,098 | F0FRILITH 405,681 |1E & 299,895 R4 448,273 ¥ALlUTH 135,176 | #&;ETH 62.4 | B[ 29.6 &R 24.3
45 |REARTH 534,215 ™ 398,592 | F &% 298,819 | B A th 439,831 | ERTH 134,313|t2 & 62.3 FEM 29.2 AL AT 24.3
46 |'= 5 TH 524,664 | KR 392,329 S 40TH 297,487 | B I&TH 433,357 HitETH 128,209/ )1|1&H 621 =& 290/ KF T 241
47 BRET 512,390 S 40tH 391,192 | F 03U 297,252 EIRB&TH 426,289 ¥ 127,635/ &LV=FTH 621 F&HFmH 28.7 &th 23.8
48 | fHETH 511,304 F &% 388,862 |t TH 296,889 | ARERTH 417596 EEART 125,247 |;E¥Ath 61.3 ERE™ 26.8 fLIE 23.8
49 | dt 500,650 | & & 378,391 |EIRB™ 289,549 |4t AL T 414,324 HF ™ 112,712|KEtH 60.7 #ET 264 fEE™ 23.2
50 B fFmh 493801 EE'RE™ 375,649 | =& TH 287,085 A TH 409,601 ;&h 111,446 | ¥ Th 59.0 R¥ 234 KB 225
51 #RERTH 492,568 FRF ™ 348,467 BRERTH 273,495 B FFrh 404,519 |dL LM v 84,921 {&Em™ 58.5 B[ 226 Ko 225
52 AL 446,151 [#31UTH 310,975 ¥ 1Um 243 178 ¥ 1T 378,354 B fFh 63,369 {&FTH 53.6 b AT 21.8FtH 224




